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Some quick studies

* Focusing on runs with tungsten and PMT's

Looking a hits

PMT performance

Showers

-w>r Rutherf:)réigxpp;leton Laboratory 2 M d rcel Sta nitz k|



[ Region Hits Sensor 8 Shapers | hits sensor 0 shapers | Region Hits Sensor 2 Shapers | hits sensor 1 shapers
Entries 20000 Entries 20000
o = Mean 2311 b E Mean 134.5
= | | —— 490085 Noise RMS 10.66 E 2000 —{ — 490065 Noise RMS 7.78
£ 1600 — & =
- 1800
1400 - — 490064 3 GaV+W E 490064 3 GeV+W
= 1600 =
1200 — 1400 —
1000 — 1200 —
800 1000 =
~ 800 —
600— =
= 600 —
400 — =
- 400 —
200— 200
u:....l....l....l... . = | L A R
0 50 100 150 200 250 300 0 50 100 150 200 250 300
Hits Hits
[ Region Hits Sensor 8 Samplers | hits 0 samplers | Region Hits Sensor 2 Samplers | hits sensor 1 samplers
Entries 20000 Entries 20000
& 500 Mean 236 g = Mean 288.5
= I | —— 490085 Noise IRMS  35.96 | -E 350 [ —— 490085 Noise [RMS ~ 62.86 |
i C wi =
— | —— 4830064 3 GaV+W [~ | —— 490084 3 GeV+W
400 — 300 =
- 250 —
300 — =
C 200—
200 __ 150 :—
- 100 —
100— =
C 50—
0 Cn o o o 0 g ol 0 = | M| P
0 100 500 500 0 100 200 300 400 500 600
Hits Hits

Science & Technology Facilities Council

W@ Rutherford Appleton Laboratory




| Region Hits Sensor 6 Shapers | hits sensor 2 shapers [ Region Hits Sensor 7 Shapers | hits sensor 3 shapers
Entries 20000 Entries 20000
g = Mean 1n7 g C Mean 1311
£ 2200 — — 490085 Noise RMS i I = [ | —— 420085 Noise Rms SOt
i 2000 | W 2500 |
E | —— 490084 3 Gav+w [ | —— 490084 3 GeV+W
1800 -
1600 — 2000 —
1400 — - |
1200 — 1500 — l
1000 — -
800 — 1000 —
600 — -
400 — 500 —
200 - ]L.L
u:....l.... Ln n o o oL - R . ¥ R L n o o Il o & o o
0 50 250 300 0 50 100 150 200 250 300
Hits Hits
|_Region Hits Sensor 6 Samplers | its sensor 2samplers | " Region Hits Sensor 7 Samplers | its sensor 3 samplers
Entries 20000 Entries 20000
g F Mean 3124 3 — Mean 209.6
£ [ | —— 490085 Noise LRMS ________ 45.19 | §= E|le— crmmmes RMS 31.73
S 350 E -
E — 490064 3 GaV+W 500 —_ — 490064 3 GeV+W
300 — -
250 00
200 — 300 —
150 — -
- 200 —
100 — C
= 100 —
0 E L o P PR
0 100 0 500 600
Hits

Science & Technology Facilities Council

W@ Rutherford Appleton Laboratory



Clearly can till the difference between Beam/no beam

Plots integrate over entire bunchtrain

Samplers are much noisier

Noise is Gaussian ...

- Wouldn't we expect that ...
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using
Jamie's Hitmap
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Clear evidence that they work to some extend ...
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Still very few hits, could be timing ?
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And the samplers ?
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Looking at showers

* Trying to find
- events with 10 hits in total

- that have the same timestamp

- 1 hit in each layer
* Very loose

- will pick up lots of noise
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« We see some physics
- But not enough in my mind
- Efficiency seems quite low
 Can be simple things
- timing, the way we look for hits
* Or something wrong with the pixels
- We know the analog noise in the test structures was fine

- Do we pick up noise from somewhere ?
- is it the digital backend ?
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